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General Instructions :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.
Questious number 1and2in Sectzon A are one-mark questwns They are

o) GRER A s G AREMY
Qtestrerfs nimber 3to 5 zn@ectzo are tto-marks questions. These are

to beanswered in about 30 words eackVe are a ‘class’ apart...

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A
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What causes movement of food inside the alimentary canal in human
beings ?
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Why is sodium hydrogen carbonate an alkaline salt ? List its two
important uses.
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What is multiple fission ? Draw a diagram to show multiple fission in
Plasmodium.
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Statetwo laws on the basis of which the refraction of light occurs,
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g refractive index of medi\lﬁi 2 with | respect to medium 1
represented in terms of speed of light ih $he fwd %géiaa‘.pﬁr%he refractive
index of medium 2 with respect to medium 1 is 1-6 and the speed of light

in medium 1 is 2 x 108 ms~!, find the speed of light in medium 2.
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How far should an object be placed from a convex lens of focal length
20 cm to obtain its real image at a distance of 30 cm from the lens ?
Determine the height of the image if the object is 4 cm tall.

OR
Where should an object be placed in front of a concave mirror of focal
length 20 cm so as to obtain a two times magnified virtual image of the
object ?

feu e gfger @ 319 i

(a)  SfdUgehl & deaeh P Fa Tfallg

(b) UHRR A @ yaifga foggg &

() 3 Q3 6Qb Ifdugs & U W fawarxw

6 Q
VVW
3 Q
VWV
6 Q
VWV

COEPTal's ACADEMY”

We are a ‘class’ apart...

In the given circuit, find :
(a) Total resistance of the network of resistors

(b)  Current through ammeter A, and

(¢) Potential difference across 3 Q and 6 Q resistors
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Justify the following statements :

(a)  Tungsten is used exclusively for filaments of electric lamps.

(b)  Series arrangement is not used for domestic circuits.

(c) Copper and aluminium wires are usually employed for electricity
transmission.
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Name the process used to generate nuclear energy. List two elements
commonly used for the generation of nuclear energy. Give two reasons

mrake the large scale use of nuclear energy prohibitive.
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What is ozone ? How is it formed at the higher level of the atmosphere ?
What is likely to happen if the ozone layer is continuously damaged,
which is in fact happening at the moment ? List any two consequences
of it.
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A solution of copper sulphate was kept in an iron pot. After few days the
iron pot was found to have a number of holes in it. Explain the reason in
terms of reactivity. Also write the chemical equation of the reaction
involved.
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(a)
(b)
(c)

(a)

(b)

(a)
(b)
(c)

(a)

(b)

(a)
(b)
(c)
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What does pH scale measure ?

Write its range.

State the significance of highest and lowest values of pH scale.

OR
Why is electrolysis of brine called ‘Chlor-alkali process’ ? Write the
chemical equation involved in this process.

A few crystals of hydrated copper sulphate are heated in a dry
test-tube. Enlist any two observations.
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Compare the following elements as per the characteristics given in the
brackets :

(a)
(b)
(c)

Lithium and Nitrogen (Atomic radii)
Potassium and Chlorine (Electronegativity)
Magnesium and Calcium (Valency)

Give reason for your answer in each case.
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(a) To=ifem
(b) 3o
(c) Ufchfis v

Draw a diagram of neuron and name and label the part

(a)  where information is acquired,

(b)  through which information travels as an electric impulse, and

(c) where the electric impulse must be converted into a chemical
signal for onward transmission.

OR
State the function of each of the following plant hormones :
(a)  Gibberellins
(b)  Auxins

(e) Abscisic acid
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List six methods used by plants to get rid of their excretory products.
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(a)  “Sexual reproduction gives rise to more viable variations than

asexual reproduction.” Justify this statement and explain how the
viable variations affect the evolution of those organisms that
reproduce sexually.

(b)  Does genetic combination of mothers play a significant role in
determining the sex of a newborn ? Give reason to justify your
answer.



17.

(a)

(b)

(c)

(a)

(b)

(c)
(a)

(b)

()

(a)

(b)

(c)
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Although Amoeba and Leishmania, both show same mode of

ep uctlon but the process of reproduction is carried out, in

@) AOEPian’'s ACADEMY

den 1y their mode of reproduction and menTlon the way it is
€ are a Ciass apar

lout in the two species.

What is regeneration ? Explain with the help of a diagram how
this process is carried out in Planaria.

Name the part of Rhizopus in which spores are formed.

State the condition under which spores grow into a new individual.
OR

Name any two bacterial infections that are sexually transmitted.
How can they be prevented ?

List three different ways, other than the one stated in (a) above,
that help an individual to avoid unwanted pregnancies.

List three advantages for adoonting contraceptive measures.
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(a)

(b)

(a)

(b)

(a)
(b)

(a)

(b)

(a)
(b)
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Explain with the help of a diagram the distribution of magnetic
field due to a current through a circular loop. Why is it that if a
current carrying coil has n turns, the magnetic field produced at
any point is n times as large as that produced by a single turn ?

What does the direction of thumb indicate in the right hand thumb
rule ? In what way is this rule different from the Fleming’s left
hand rule ?
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State the role of ciliary muscles present in our eye.
Identify the defect of vision in each of the following cases and
suggest its corrective measure :
1) The eye lens has become milky and cloudy.
(i1)  The eye lens has excessive curvature.
(iii) The eye lens has large focal length (longer than normal).

(iv)  Ciliary muscles have weakened.
oD
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(a)

(b)

(a)
(b)

(c)

(a)

(b)

(a)
(b)

(c)

With the help of diagram explain Isaac Newton’s experiment that
led to the idea that the sunlight is made up of seven colours.

What is atmospheric refraction ? List two natural phenomena
based on atmospheric refraction.
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@)  CyHgO

(i) CyH,O
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Draw electron dot structure of methane molecule.

Identify the functional groups present in the following compounds :
1) CoHgO
(i) CgoH4O

A mixture of oxygen and ethyne is burnt for welding. Why do you
think a mixture of ethyne and air is not used for welding ?

OR
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(a)

(b)

(a)

(b)

(c)
(a)

(b)

(c)

(b)

Carry out the following conversions giving complete conditions for
the reaction to take place in each case :

1) Ethanoic acid from Ethanol

(ii))  Ethane from Ethene

(iii) Ester from Ethanoic acid and ethanol

Also state the names given to all the above conversions.

Detergents are preferred over soaps. Why ? (Give one reason)
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Name two metals which are obtained from their ores by simple
heating.

Differentiate between calcination and roasting, taking examples of
zinc ores.

What is thermit reaction ? State its significance.
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In the experimental set-up shown,

(a) name the material X filled in the small test tube and the material
Y placed at the bottom of the conical flask.

(b)  why is there a rise in water level in the delivery tube ?

<8 Y
g ‘] — Delivery tube
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A student wants to germinate dicot seeds. Write the four steps in correct
sequence that will help him to perform the experiment in the right way.

OR
Identify the following diagram and name the parts marked as A, B and C :
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Out of the five incident rays shown in the following diagram, find any two
incident rays that are obeying the laws of refraction of light and may be
used for locating the position of the image formed by a convex lens.

Use these two rays in finding the position, size and nature of the image
formed when an object is placed between F; and 2F; of a convex lens.

9F,

OR

Write four steps in proper sequence which should be followed in the
determination of focal length of a given convex lens by obtaining a sharp
image-ef a distant object.
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BH 3 3 & T 1w HEE TP R
i Urter B g 124 7w 1 i@ o @ R | 9l 3w Uter
0% 05A & &= 10 foure= 8, @ 129 o & deaeq udiet 1
TSI 1 & ?

(b)  3mq fopreft forgq ufty & Ufter o dieetfic 1 fopd R TfSIa &td
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(a) In a given ammeter, a student saw that needle indicates

12th division in ammeter while performing an experiment to verify
Ohm’s law. If ammeter has 10 divisions between 0 to 0-5 A, then
what is the ammeter reading corresponding to 122 division ?

(b) How do you connect an ammeter and a voltmeter in an electric

circuit ?
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A pale green solution of ferrous sulphate was taken in four separate test
tubes marked I, II, III and IV. Pieces of Cu, Zn and Al were dropped in
test tubes II, III and IV respectively. In which case(s)

(a)  the colour of ferrous sulphate solution will match with the colour

in test tube (I) ? Give reason.

(b)  the colour of ferrous sulphate solution will fade and black mass
@E@imﬁgacfﬁe@eA@E MY
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On adding a few drops of universal indicator in three colourless solutions
X, Y and Z taken separately in three test tubes, a student observed the
changes in colour as green in X, red in Y and blue in Z.

(a)  Arrange X, Y and Z in increasing order of their pH values.

(b)  Which one of the three, X, Y and Z, will change the colour of
phenolphthalein ? Why ?
OR
State the observation and inference made by a student when he brings
(i) a wet blue litmus paper and (ii) a wet red litmus paper in contact with

the gas liberated during thermal decomposition of ferrous sulphate.
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